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Ql.
Jir 1 L] = weeee
(—%)
'3
(A) \/ = sin(z)
9 [ sin(x
(8) /2 (52 — cos(a))
2 ( cos(z r
() — E( :j Ly 51n(m))
2
(D) 4/ = cos(z)
Option A: | A
Option B: | B
Option C: | C
Option D: | D
Q2 Which of the following relation is carrect for J, () ?
A duir () + oo (2) = —2 L[]
(7)) = T o) =2 5(2)
€ (z) + i (2] = 20
YA w) + .0 0 (x) +E f =]
Option A: | A
Option B: | B
Option C: | C
Option D: | D




Q3.

A fumction & % =akd to be linrmonic if anad only i

o i, +w__ =0 (hyw + =1 (¢, +i. =

I fd) w> +u- =1

Option A:

Option B:

Option C:

Option D:

a
b
c
d

Q4.
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(@l e comsvya{ db)e'sm v+C (@) e’ s e+

() —e" sm r+ 0

Option A:

a

Option B:

b

Option C:

Option D:

c
d

Q5.

The gradient of a scalar function ¢(x, y, =) is
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Option A: | A

OptionB: | B

Option C: | C

OptionD: | D

Q6_ for whan walos of 0 the veotor Tield | oy I
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Option A:

Option B:

Option C:

Option D:

Q7.
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Option A:

Option B:

Option C:

Option D:
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QS.

Tl bsammtniific ongjiggate of 2y — 47 + 3y s
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Option A:

Option B:

Option C:

Option D:

a
b
c
d




Qo. (2 —z)

I'he points at which () + 15 mot analyte are
[ = 1 2)
fapdhand 1 b} | and -1 (e iand 2 {di | ancd 2
Option A: | a
Option B: | b
Option C: | ¢
Option D: | d
QIO The harmionee conjugate of 4 = kg ~,|| S
| : i ; [e) tan |—| i1 -

Option A: | a

Option B: | b

Option C: | ¢

OptionD: | d

Option A: | a
Option B: | b
Option C: | ¢
Option D: | d

Q12. 1 [ 32 _|_ 16
log
v8s—+3

Option A: .
e — 2cos 4t

Option C:
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Option D: 1 1
— | =e* — 2cost
t|2
Ql13. Laplace of function f(t) is given by?
Option A: o
/ e f(t)dt
0
Option B: oo
/ e f(t)dt
0
Option C: s
/ e £ dt
—00
Option D: oo
/ e f () dt
—0
Ql14. L[1 +sin 2t cos {12t]
OptionA: | g% 4 28 + 16
s(s2 — 4%)
Option B: | o2 4 3¢ 4 16
s(s2 + 4%)
OptionC: | ¢2 4 25 + 16
(2 - 4%)
Option D: | ¢2 4 D¢ 4 16

(s2 +4%)




Qs | L|te’ sint

Option A: §
(s—2Y+2
Option B: d ( 1 )
ds \ (s=1%+1
Option C: d ( 1 )
ds \ (s=2%+1
Option D: d g
ds\ (s—1)* +1

Q16. If L[y(t)] =Y(s), the L[y"(t)]=
i Y () - 5y 0+ (0)
Opion B: | s8I, [y ()] — sy (0) + ¥ (0)
orin€ | sy (s) = sy(0) + ¥/ (0)
ot ¥ (s) - ay(0) — ¥ (0)

Ql17. What are periodic signals?
Option A The signals which change with time
Option B: | The signals which change with frequency
Option C: The signal that repeats itself in time
Option D: | The signals that repeat itself over a fixed frequency

Q18.

5

-1
s2a2 + b2




Option A: 1 ( [/ )
— cos(— )t
2 b
Option B: 1 b
— cos(—)t
a* a
Option C: 1 b
— sin{—)t
a? a
OptionD: | ] a
— sin(—)t
— sin(3)
19.
Q -1 2s —1
s2+4s+8
Option A: | 2~ coyg 2¢ — %e“ sin 2t
Option B: ze-r cOs 2t — SE_I sin 2¢
Option C: | 20~2f pog 2¢ — 5S¢ gin 24
Option D:
—2‘ 5 _Zt .
2¢~% cos 2t — 7€ sin 2t
Q20. Find the value of b1 for xsin(x)in(0,pi)




Option A: ™
Option B: T™
Option C: T™
Option D: i
Q21. |
Option A: | a=2,b=1, c=1,d=2
Option B: | a=1, b=2, ¢=2, d=1
Option C: | a=2,b=-1,c=-1,d=2
Option D: | a=-2,b=1, c=1, d=-2
Q22.
Option A: | a
Option B: | b
Option C: | ¢
Option D: | d
Q23.
If flzx,y,2) = 3z°y + 2y — 3z, then Vf
(A) (Brty, 307, 3)
(B} (Bzy, 322 + 2.3)
{€) (Gzy, 3=t —3)
(D) (6zy, 327 +2,-3)
Option A: | A
OptionB: | B
OptionC: | C
Option D: | D
Q24, l.::\-"‘N'I.I ulliey 1‘:-|'|:-.i: ; & ¥ b i comanresieve Pl Then B istegrel when © i emy paih
Option A: | 11
Option B: | -11




Option C:

5

Option D:

-5

Q25.

Which of the fallowing represents the Rux of F
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Option A:

A

Option B:

Option C:
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Option D:




